
1.Select the correct mirror image of the

given combination when the mirror is

placed at MN as shown.

दिए गए संयोजन के सही िर्पण प्रदिदबंब का चयन

कीदजए जब िर्पण को MN र्र रखा जािा है, जैसा

दक दिखाया गया है।



1.Select the correct mirror image of the
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Q.1 statement: "You are hereby appointed as a programmer with a probation period of one 

year and your performance will be reviewed at the end of the period for confirmation." - A line 

in an appointment letter.

Assumptions:

1.The performance of an individual generally is not known at the time of appointment offer.

2.Generally an individual tries to prove his worth in the probation period.

1.कथन: "आर्कोएकवर्प की र्ररवीक्षाअवदि केसाथ एकप्रोग्रामर केरूर्में दनयुक्त दकयाजािा हैऔर रु्दि के

दिएअवदि के अंिमेंआर्के प्रिर्पनकीसमीक्षाकीजाएगी।" - दनयुक्तक्तर्त्रमें एक रं्क्तक्त।

िारणाएं:

1.आमिौर र्र दनयुक्तक्तप्रस्ताव केसमय दकसीव्यक्तक्तका प्रिर्पनज्ञाि नही ंहोिा है।

2.आमिौर र्र एकव्यक्तक्तर्ररवीक्षाअवदिमें अर्नी योग्यिासादबिकरनेकीकोदर्र्करिा है।

•(A)If only assumption I is implicit

•(B) If only assumption II is implicit

•(C) If neither I nor II is implicit

•(D) If both I and II are implicit.



Q.2 Statement: "In order to bring punctuality in our office, we must provide 

conveyance allowance to our employees." - In charge of a company tells 

Personnel Manager.

Assumptions:

1.Conveyance allowance will not help in bringing punctuality.

2.Discipline and reward should always go hand in hand.

कथन: "हमारेकायापिय में समयकी र्ाबंिी िाने के दिए, हमें अर्नेकमपचाररयो ंको वाहनभत्ता

प्रिानकरना चादहए।" -एक कंर्नीका प्रभारीकादमपक प्रबंिकको बिािा है।

िारणाएं:

1.वाहनभत्तासमयकी र्ाबंिी िाने में मििनही ंकरेगा।

2.अनुर्ासनऔरइनाम हमेर्ासाथ-साथचिने चादहए।

•(A)If only assumption I is implicit

•(B) If only assumption II is implicit

•(C) If neither I nor II is implicit

•(D) If both I and II are implicit.



Q.3 Statement: Unemployment allowance should be given to all unemployed Indian 

youth above 18 years of age.

Assumptions:

1.There are unemployed youth in India who needs monetary support.

2.The government has sufficient funds to provide allowance to all unemployed youth.

कथन: 18 वर्प से अदिकआयु केसभी बेरोजगारभारिीय युवाओंको बेरोजगारीभत्ता दिया जाना चादहए।

िारणाएं:

1.भारिमें बेरोजगार युवा हैं दजन्हेंआदथपकसहायिाकीआवश्यकिा है।

2.सभी बेरोजगार युवाओंकोभत्ता प्रिानकरने के दिएसरकार के र्ास र्यापप्तिन है।

•(A)If only assumption I is implicit

•(B) If only assumption II is implicit

•(C) If neither I nor II is implicit

•(D) If both I and II are implicit.



Q.4 Statement: "If you trouble me, I will slap you." - A mother warns her 

child.

Assumptions:

1.With the warning, the child may stop troubling her.

2.All children are basically naughty.

कथन: "यदिआर् मुझे र्रेर्ानकरिे हैं, िो मैं आर्कोथप्पड़मारंूगा।" -एकमांअर्ने

बचे्चको चेिावनी िेिी है।

िारणाएं:

1.चेिावनी के साथ, बच्चाउसे र्रेर्ानकरना बंिकरसकिा है।

2.सभी बचे्च मूिरूर् से नटखटहोिे हैं

•(A)If only assumption I is implicit

•(B) If only assumption II is implicit

•(C) If neither I nor II is implicit

•(D) If both I and II are implicit.



Q.5 Statements: In a one day cricket match, the total runs made by a 

team were 200. Out of these 160 runs were made by spinners.

Conclusions:

1.80% of the team consists of spinners.

2.The opening batsmen were spinners.

कथन: एक दिवसीय दिकेट मैचमें, एकटीम द्वारा बनाए गए कुि रन 200 थे। इनमें से

160 रन क्तिनरो ंद्वारा बनाए गए थे।

दनष्कर्प:

1.टीम के 80% में क्तिनरर्ादमि हैं।

2.सिामी बले्लबाज क्तिनर थे। (A)If only conclusion I follows

(B) If only conclusion II follows

(C) If neither I nor II follows and

(D) If both I and II follow.



(A)If only conclusion I 

follows

(B) If only conclusion II 

follows

(C) If neither I nor II follows 

and

(D) If both I and II follow.

Q.6Statements: Population increase coupled with depleting resources is going to be the scenario 

of many developing countries in days to come.

Conclusions:

1.The population of developing countries will not continue to increase in future.

2.It will be very difficult for the governments of developing countries to provide its people decent 

quality of life.

कथन: घटिे संसािनो ं के साथजनसंख्या वृक्तिआने वािे दिनो ंमें कई दवकासर्ीि िेर्ो ंकी क्तथथदि बननेजा रही है।

दनष्कर्प:

1.भदवष्यमें दवकासर्ीि िेर्ो ंकी जनसंख्यामें वृक्तिजारी नही ंरहेगी।

2.दवकासर्ीि िेर्ो ंकी सरकारो ं के दिएअर्नेिोगो ंको सभ्यजीवनस्तरप्रिानकरना बहुिकदिनहो



Q.7 Statement: Should India encourage exports, when most things are insufficient for internal 

use itself?

Arguments:

1.Yes. We have to earn foreign exchange to pay for our imports.

2.No. Even selective encouragement would lead to shortages.

कथन:क्याभारिको दनयापिको प्रोत्सादहिकरना चादहए, जबज्यािािरचीजें आंिररकउर्योग के दिएअर्यापप्तहैं?

िकप :

1.हां। हमें अर्नेआयािका भुगिानकरने के दिए दविेर्ी मुद्राअदजपिकरनी होगी।

2.नही।ं यहां िक दकचयनात्मकप्रोत्साहन सेभीकमी हो सकिी है
•(A) If only argument I is 

strong

•(B) If only argument II is 

strong

•(C) If neither I nor II is 

strong and

•(D) If both I and II are 

strong.



•(A) If only argument I is strong

•(B) If only argument II is strong

•(C) If neither I nor II is strong and

•(D) If both I and II are strong.

Q 8.Statement: Should all the drugs patented and manufactured in Western 

countries be first tried out on sample basis before giving licence for sale to 

general public in India?

Arguments: I.Yes. Many such drugs require different doses and duration for Indian 

population and hence it is necessary.

II. No. This is just not feasible and hence cannot be implemented.

कथन:क्याभारिमेंआमजनिाको दबिी के दिएिाइसेंस िेने से र्हिे र्दिमी िेर्ो ंमें रे्टेंटऔर

दनदमपि सभी िवाओंको र्हिे नमूनाआिार र्रआजमायाजाना चादहए?

िकप :1.हां। ऐसीकई िवाओंको भारिीयआबािी के दिएअिग-अिगखुराकऔरअवदिकी

आवश्यकिा होिी हैऔर इसदिएयहआवश्यकहै।

II.नही,ं यह संभवनही ंहैऔर इसदिए इसे िागू नही ंदकया जासकिा है।



Q.9 Statement: Should India make efforts to harness solar energy to fulfil its energy 

requirements?

Arguments: I. Yes, Most of the energy sources used at present is exhaustible.

II.No Harnessing solar energy requires a lot of capital, which India lacks in.

कथन:क्याभारिकोअर्नीऊजापआवश्यकिाओंको रू्राकरने के दिएसौरऊजाप का उर्योगकरनेका प्रयास

करना चादहए?

िकप : 1.हां, विपमान में उर्योग दकएजाने वािे अदिकांर्ऊजाप स्रोिसमाप्तहोने योग्यहैं।

II.नही,ं सौरऊजाप का उर्योगकरने के दिए बहुिअदिक रंू्जीकीआवश्यकिा होिी है, दजसकीभारिमें कमी है

•(A) If only argument I is 

strong

•(B) If only argument II is 

strong

•(C) If neither I nor II is strong 

and

•(D) If both I and II are strong.



Q.10 Statement: Should there be a complete ban on Indian professionals seeking jobs 

elsewhere after completing their education in India?  

Arguments: : I. Yes. This is the only way to maintain the current rate of technological 

development in India.  

II. No. Indians abroad send large amounts of foreign exchange and form an important 

part of the foreign exchange reserves.

कथन: क्याभारिमें दर्क्षा प्राप्तकरने के बािकही ंऔरनौकरी चाहने वािे भारिीय रे्रे्वरो ंर्र रू्णप

प्रदिबंि होना चादहए?

िकप : I. हााँ। भारि में िकनीकी दवकासकी विपमान िरको बनाए रखनेका यही एकमात्र िरीका है।

II. नही।ं दविेर्ो ंमें बसे भारिीय बड़ी मात्रा में दविेर्ी मुद्रा भेजिे हैं औरयह दविेर्ी मुद्रा भंडारका एक

महत्वरू्णप दहस्सा है।

•(A) If only argument I is strong

•(B) If only argument II is strong

•(C) If neither I nor II is strong and

•(D) If both I and II are strong.
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